Type: cpu

Duration: 5m0Os

Dropped 1 edge (freq <=0.915)

Time: Jun 22,2015 at 11:19pm (PDT)

runtime.goexit System

884.26s of 912.52s total (96.90%)
Dropped 492 nodes (cum <= 4.565s)

29547s §580.50s

github.com/couchbase/indexing/secondary/indexer.(*storageMgr).createSnapshotWorker

github.com/couchbase/indexing/secondary/indexer.func-071

runtime.timerproc

0.315(0.034%)

github.com/couchbase/indexing/secondary/dcp.getStatsParallel

0 0f 295.475(32.38%) 0 of 580.50s(63.62%) of 14.865(1.63%) 0 of 7.14s(0.78%)
295.04s 580.50s 6.20s 7.14s
runtime.siftdownTimer i indexi i i
github.com/couchbase/indexing/secondary/indexer.(*fdbSlice) NewSnapshot github.com/couchbase/indexing/secondary/indexer.(*fdbSlice).Compact 6.02s(0.66% glthub.com/couchbase/mdexmg/sg%(); (Egr(})lédzczpo//tgansport/chent.(*Chent).StatsMap
0 of 295.04s(32.33%) 0 of 580.50s(63.62%) 02s(0. 0) SR G
of 6.20s(0.68%) of 7.14s(0.78%)
295.03s 28391s 296.58s 6.43s

github.com/couchbase/indexing/secondary/fdb.(*File).Commit

github.com/couchbase/indexing/secondary/fdb.(*File).GetAllSnapMarkers

github.com/couchbase/indexing/secondary/fdb.(*File).CompactUpto

github.com/couchbase/indexing/secondary/dcp/transport/client.(*Client).Stats
0.13s(0.014%)

0 of 295.03s(32.33%) 0 of 283.91s(31.11%) 0 of 296.58s(32.50%) of 6.435(0.7%)
295.03s 283 91s 296.58s 5.60s
glthU.b .Com/COU.ChbaSC/indCXing/SeCOHdaI'Y/ fdb(*adVLOCk) 'LOCk . . . ithub.com/couchbase/indexing/secondary/dcp/transport/client.getResponse
f 24 8338(4(- 6836%)(7 glthub.Com/cOuChbaSe/lnd%x(l)[flgz/;g(':;)g;l(%rg-/sfg%ycfunc_fdb_compact_upto git (ios?’%(g ?(g)%? ;p i P UiZEl p
of 578.94s(63.44%) oo
534.60s 296.58s 5.43s
runtime 'SeleCtnbreCV runtime .Cgocall_errno github.com/couchbase/indexing/secondary/dcp/transport.(*MCResponse).Receive
73.97s(8.11%) 0.1950021%)
of 534.60s(58.59%) 298.13s(32.67%) o S0 6%
460.63s 4.77s
runtime.chanrecv
io.ReadFull
298.385(32.70%) )
of 460.63s(50.48%)
38.90s 10.26s 113.09s 4.67s
runtime.atomicload64 runtime.atomicloaduint runtime.atomicload i(()) '%Z?%Aot]]f%s)t
38.915(4.26%) 10.26s(1.12%) 113.26s(12.41%) of 4675(0.51%)
4.52s

net.(*conn).Read
0.08s(0.0088%)
of 4.59s(0.5%)




